DRE=ER

8H 9A 10A 118
1 rE x| EENH rE Al  EEA 1
2 EEA * RE rE x| EENH 2
3 EEA e EENH rE x| EBNA 3
4 EEA = EENH rE ® & 4
5 EENA B & rE e JEENH 5
6 EEA Al EENA rE = EENH 6
7 rE x| EENA EEA A K& 7
8 rE x| EENH EEA A rE 8
9 rE x| EENA rE * "E 9
10 rE & RE EEA * rE 10
11 rE + K& SEENE x K& 11
12 rE Bl EEIE EEA ® rE 12
13 rE Al EEA EBA + K& 13
14 rE x| EENH rE B rE 14
15 K& * HENR EENR A K& 15
16 rE ® & EEA % rE 16
17 K& & HENR K& * K& 17
18 EEA = EEIH EEA * rE 18
19 EBA B & SEENR & h&E 19
20 EBA A AR EBHE + EEIR 20
21 EBA x| EENA rE B "E 21
22 rE x| JEEA EENE A EENH 22
23 EBA * & rE x| EENIH 23
24 EBA # AR EBHE * EHA 24
25 EBA = EENA EBH * h&E 25
26 rE B & SEEA e EEH 26
27 JEENA Al EEIA EEH = EENH 27
28 EEA x & rE B "E 28
29 rE * rRE EBA Al EEA 29
30 K& x K& EEH * EEIR 30
2 = [N = I
EBE 14 19 18 13
ARk 0 0 0 0
AE R 0 0 0 0
%R 17 11 13 17
tkaa /8 4.3 28 3.3 4.3
Y] 108 118 128
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